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Q-1 In each of the questions below, some statements are given followed by conclusions/group of conclusions numbered I and II. You have to assume all the
eng statements to be true even if they seem to be at variance from the commonly known facts and then decide which of the given two conclusions logically
follows from the information given in the statements.

Statement:

AllAareZ.

Some Z are P.

NoPis Q.

Conclusion:

I) Some A being Q is a possibility.
II) Some P being Z is a possibility.

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
03. Ifeither I or II follows. 04. If neither I nor 11 follows.

05. IfbothIand II follow.
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Solution for Question 1
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Q-2 Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
eng the statements are sufficient to answer the question. Read both the statements. Give answer:

WHAT? is written as .
I. ‘WHAT IS INTELLIGENT ENOUGH?’ is written as ‘1 2 3 5°.
II. “WHO IS INTELLIGENT BUT” is written as ‘2 6 3 4°.

01. Ifthe data in statement I alone is sufficient to 02. If the data in statement II alone is sufficient to answer the question, while the data in statement I
answer the question, while the data in alone is not sufficient to answer the question.
statement II alone is not sufficient to answer
the question.

03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together is not sufficient to answer the question.
statement II alone is sufficient to answer the
question.

05. Ifthe data in both statements I and II
together is necessary to answer the
question.
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Solution for Question 2
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The data in both statements I and II together is not sufficient to answer the question.
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Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

How many coins A have?
I. 5 Persons- A, B, C, D and E each have different number of coins. B have 15 coins. C have 22 coins. A have more coins than D.
I1. 5 Persons- A, B, C, D and E each has different number of coins. C have more coins than D. B and D each have 15 coins.

01. Ifthe data either in statement I alone orin ~ 02. If the data in statement I alone is sufficient to answer the question, while the data in statement II
statement I alone is sufficient to answer the alone is not sufficient to answer the question.
question.

03. Ifthe data in statement Il alone is sufficient 04. If the data in both statements I and II together is necessary to answer the question.
to answer the question, while the data in
statement I alone is not sufficient to answer
the question.

05. If the data in both statements I and 1T
together is not sufficient to answer the
question.
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Solution for Question 3
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The data in both statements | and Il together is not sufficient to answer the question.
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Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

What is the distance between C and X?
I. B is 5 m to the south of D. K is 5 m to the north of D. C is 10 m to the east of B. A is 10 m to the west of D. X is 20 m to the east of A.
II. B is 15 m to the north of D. A is 10 m to the south of C. B is 5 m to the west of C. X is 7 m to the south of A.

01. Ifthe data in statement I alone is sufficient to 02. If the data in statement II alone is sufficient to answer the question, while the data in statement I
answer the question, while the data in alone is not sufficient to answer the question.
statement II alone is not sufficient to answer
the question.

03. Ifthe data either in statement I alone orin  04. If the data in both statements I and II together is necessary to answer the question.
statement II alone is sufficient to answer the
question.

05. If the data in both statements I and I



together is not sufficient to answer the
question.
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Solution for Question 4
eng The data either in statement I alone or in statement II alone is sufficient to answer the question.
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Q-5 In each of the questions below, some statements are given followed by conclusions/group of conclusions numbered I and II. You have to assume all the
eng statements to be true even if they seem to be at variance from the commonly known facts and then decide which of the given two conclusions logically

follows from the information given in the statements.

Statement:

Some 2 are 4.

No4is7.

No 7is 1.

Conclusion:

DNolis2.

II) Some 7 being 2 is a possibility.

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.

03. Ifeither I or II follows. 04. TIfneither I nor II follows.

05. IfbothIand II follow.
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Solution for Question 5
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Q-6 In each of the questions below, some statements are given followed by conclusions/group of conclusions numbered I and II. You have to assume all the
eng statements to be true even if they seem to be at variance from the commonly known facts and then decide which of the given two conclusions logically
follows from the information given in the statements.

Statement:

No A are P.

No A are L.

No L are P.

Conclusion:

I) Some P are A is a possibility.
II) Some L are P.

01. TIfonlyI follows. 02. TIfonly II follows.
03. TIfeither I or II follows 04. Ifneither I nor II follows.

05. Ifboth I and II follow.
Q-6 A= fo 0 ST WA H, g FAAT 6 a1% (Aewd/ At w1 a9y wedT [ 1 Ru u g1 sraeny R o adt wet f 9o AT g O et J
hi AT A2 & T T g1 g1 37T 28eh are iy om1 g 36 faw 1o 649 & 27 Ao foreit & <7 T STy 7 arfehes &9 & a0 Fd 2|

FIT:
S A, PRI 2

S A, L7212

2 L, P gl 2l

Ao

I) £ P % A g9 &f G1aHT 8
mFSL,PE

01. Faer Ao [ STEeor F3aT 21 02. Faer Ao [ S| F2aT g
03. =rfe =T a7 [ 37 11 STHEY0T F2dT 2 04. AT 1T Y 11 STTALOT FT B
05. fF [ 37 11 T STTATT F7d &

Solution for Question 6
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Q-7 Study the following information carefully and answer the questions given below:
eng

There are 5 members of a family G, H, I, J and K standing in a park. G is standing 5 m to the south-east of I. H is standing 10 m to the east of G. J is
standing 10 m to the north of H. K is standing 5 m to the west of 1.

In which direction is H with respect to K?

01. South-west 02. South-east
03. North-east 04. North-west

05. None of these
Q-7 fraforfaa ST &1 eamgE # sregaT w3 A= g agyat F sacdHita:

TF TER & S A9 G, H, L J iR K TF 9 § @S 1 G, [ F 0-qa § 5 fex FT g W @ET gl H, G F @ 7 10 e il T e @eT gl J, H
F IATH 10 HeT T T T FET gl K, [ 5 959 # 5 #ie it T W @sT 2

K % gaer 7, H e fReam & 22

01. =feor-afem 02. zferor-qd
03. IT-qF 04. IT-gfEw
05. =8 & F1E TEF

Solution for Question 7
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Study the following information carefully and answer the questions given below:

There are 5 members of a family G, H, I, J and K standing in a park. G is standing 5 m to the south-east of . H is standing 10 m to the east of G. J is
standing 10 m to the north of H. K is standing 5 m to the west of 1.

If Point A is 5 m to the west of H, then what is the distance between Point G and Point A?

01. 13m 02. 3m
03. 4m 04. 5m
05. Can’t be determined
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Solution for Question 8
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Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

How many persons sits between A and D?
I. 4 Persons- A, B, C and D are sitting around a circular table. All persons are facing to the center, but not necessarily in the same order. No person is

sitting between A and D when counting from left of D.

IL. 4 Persons- A, B, C and D are sitting around a circular table. All persons are facing to the center, but not necessarily in the same order. B is not the
neighbour of C.

01.

03.

05.

If the data in statement I alone is sufficient to 02.

answer the question, while the data in
statement I alone is not sufficient to answer
the question.

If the data either in statement I alone orin ~ 04.

statement II alone is sufficient to answer the
question.

If the data in both statements I and II
together is not sufficient to answer the

If the data in statement II alone is sufficient to answer the question, while the data in statement I
alone is not sufficient to answer the question.

If the data in both statements I and II together is necessary to answer the question.
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Solution for Question 9
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The data in statement I alone is sufficient to answer the question, while the data in statement II alone is not sufficient to answer the question.
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Study the following letter/number/symbol arrangement carefully and give the answer of the questions-
SVPT#AJQS8ZX2E*GW&KI@OC3IND4%UG6I

If all the numbers in the above arrangement are dropped, which of the element will be the sixteenth from the right end?

01. E 02. 7

03. D 04. C

05. None of these

fReferfed ster/arear/adis sTaeaT FiT eqT @ g i =01 & 37 -
SVPT#AJQ8ZX2E*GW&KI@OC3IND4%UG6I
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01. E 02. 7
03. D 04. C

05. T & FrE AT

Solution for Question 10
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Study the following letter/number/symbol arrangement carefully and give the answer of the questions-
S5VP7T#AJQS8ZX2E*GW&KI@OC3IND4%UG6I

Which of the following elements is the fifth to the right of the sixteenth from the right end of the above arrangement?

01. O 02. X
03. G 4. @

05. None of these
et ser/me/sdis sTae 1 eamaIE T T2 ST Yo % 397 E-
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Solution for Question 11
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Study the following letter/number/symbol arrangement carefully and give the answer of the questions-
S5VPT#AJQ8ZX2E*GW&KI@OC3IND4%UG6I

How many such symbols are there in the above arrangement, each of which is immediately preceded by a number and immediately followed by a vowel?

01. None 02. One
03. Two 04. Three

0S. More than three
Referfd ste/areaT/adis SaedT F SATaaI@s g i =01 & 37 -
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Solution for Question 12
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Q-13
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Q-14
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Q-14
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T#A, 4%U, 9@O
TH#A, 4%U, 9@0

Study the following letter/number/symbol arrangement carefully and give the answer of the questions-

SVP7T#AJQ8ZX2E*GW&KI@OC3ND4%U6I

How many such numbers are there in the above arrangement, each of which is immediately preceded by a vowel and immediately followed by a symbol?

01. None 02. One
03. Two 04. Three

05. More than three
et ster/aeT/adis saeT fit A T a® 98 o =77 % 397 -
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01. 7 TEY 02. %
03. =7 04. =
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Study the following letter/number/symbol arrangement carefully and give the answer of the questions-
SVPT#AJQS8ZX2E*GW&KI@OC3IND4%U6I

How many such consonants are there in the above arrangement, each of which is immediately preceded by a letter and immediately followed by a symbol?

01. None 02. One
03. Two 04. Three

05. More than three
fReferferd ster/arear/adis saaeaT FT eaTaaIEs g i T F 397 |-
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03. =r 04. =
05. Fi= & =rferr

Solution for Question 14
eng GW&
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Q-15 Among four friends A, B, C and D. A's weight is more than B and C. D's weight is more than B but less than C. Who is the third heaviest among them?
eng

01. B 02. C
03. A 04. D
05. Can't be determined

Q-15 = fisi A, B, CsT DH, A T 9T B 317 C & 31fer g1 D F7 AT¢ B & {3 g, Al C & 77 8 ITH F I 1627 qa9y A7 22

01. B 02. C
03. A 04. D
05. fRgifea a8t T s aar

Solution for Question 15
eng A>C>D>B

hi A>C>D>B

Q-16 In each of the following questions, assuming the given statements to be true, find which of the two conclusions I and II given below that is/are definitely
eng true.

Statements : T=R, N>M, R<M

Conclusions: (I) M>T (I)R<N

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true
03. Ifeither conclusion I or II is true 04. TIfneither conclusion I nor II is true

05. Ifboth conclusions I and II are true

Q-16 = fIU gu vl % FAAT FT T A g FaTG, FoF i &7 fehd (1) 32 (1) [T =73 a7 )
FIT: T=R, N>M, R<M

ffsed: M>T (I R<N

01. Ff Faer Aoy [T B 02. 7fy Faer fAewy 1197 8
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Solution for Question 16
eng Statement :N>M>R=T
Conclusions :

() M>T (False)
() N>R (True)

hi HUT:N>M>R=T

foreepe
() M > T (s75)

(1) N > R ()

Q-17 In each of the following questions, assuming the given statements to be true, find which of the two conclusions I and IT given below that is/are definitely true.
eng
Statements: M>D, W>V, D>V

Conclusions: (I) M=W anpmM<v

01. If only conclusion I is true. 02. Ifonly conclusion II is true.



03. Ifeither conclusion I or I is true. 04. Ifneither conclusion I nor II is true.

05. Ifboth conclusions I and II are true.
Q-17 = RU gU w1 F FAAT HT T A g0 FaTG, Fo6 i &7 [=ehd (1) 37 (1) [T =7 a a1

FT: M>D, W>V, D>V

ffepd: @ M=w an M<V
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Solution for Question 17

eng Statement: M>D>V < W
Conclusions :
() M =W (False)

(I) M <V (False)

hi FATM>D>V<W

forsny :
(HM=W (99)
() M <V (3/9)

Q-18 In each of the following questions, assuming the given statements to be true, find which of the two conclusions I and IT given below that is/are definitely true.

eng
Statements : B<V, M>Z, V=M

Conclusions: (I) B=M a z<v
01. Ifonly conclusion I is true 02. TIfonly conclusion II is true
03. Ifeither conclusion I or II is true. 04. TIfneither conclusion I nor IT is true.

05. Ifboth conclusions I and II are true.

Q-18 1= XU g0 W=AT & FIAT &l He A gU FaTU. 1o Fi |7 e (1) 3T (1) [T s a7 g1
FIT B<V, M>Z V=M

ffsrd: (@) B=M anz<v
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Solution for Question 18

eng Statement :B<V=M>Z
Conclusions :
() B =M (False)
() Z <V (True)
hi DHYT:B<V=M>Z
et

(I) B = M (3r73)

() Z < V (71

Q-19 Read the following information carefully and give the answer of the following questions-

eng In a family there are two married couples, two daughters, three sons and two brothers. Rohan is the son of Soni who is daughter of Rajeev and wife of
Lucky. Riya is granddaughter of Rajeev. Pyare is the son of Toni and husband of Reema who is granddaughter-in-law of Sanjeev. Sanjeev and Rajeev are
real brothers.

How is Pyare related to Sanjeev?



01. Son 02. Grandson
03. Son-in-law 04. Data inadequate

05. Uncle
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Solution for Question 19
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Q-20 Read the following information carefully and give the answer of the following questions-

eng In a family there are two married couples, two daughters, three sons and two brothers. Rohan is the son of Soni who is daughter of Rajeev and wife of
Lucky. Riya is granddaughter of Rajeev. Pyare is the son of Toni and husband of Reema who is granddaughter-in-law of Sanjeev. Sanjeev and Rajeev are
real brothers.

How is Toni related to Rajeev?

01. Father 02. Uncle
03. Father-in-law 04. Nephew

05. None of these
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T, T AT A § ST ST T i §, ST S A GSSle-39-AA1 g1 S T i 79 9IS &

ZIT, TSI | i qRtead 82

01. fiqr 02. 3fFer
03. TEx 04. ?rcp:c(
05. =% F 1S T

Solution for Question 20

eng R}’L Broter

=]

H| i)
Riya Rdhan

g

Sargear
T

1 In [l 5]
T Som Tori
[

]

IPyse: =2



o
) 5 ()
= il
e - 5
0 #) 0]
W ikl

Q-21 Read the following information carefully and give the answer of the following questions-

eng In a family there are two married couples, two daughters, three sons and two brothers. Rohan is the son of Soni who is daughter of Rajeev and wife of
Lucky. Riya is granddaughter of Rajeev. Pyare is the son of Toni and husband of Reema who is granddaughter-in-law of Sanjeev. Sanjeev and Rajeev are
real brothers.

How is Lucky related to Reema?

01. Father 02. Brother
03. Father-in-law 04. Son

05. None of these

Q-21 oo ST #7 ea@ s stemaw w2 i i3 13wt 3 3w ffsru-

hi UF IE | T fAaared Sire, 21, T T T &1 A7 81 Tae, FET 67 T & ST i 61 [T T el #6f goit g1 {7, Tt & feefe 2
T, T AT A ¢ ST ST 7 i §, ST S i GSSle-39-aA1 g1 SSia ST i 79 7S g

T, THAT | 8 q T 82

01. far 02. W
03. FrET-zA-AT 04. o=
05. =% FFTS T
Solution for Question 21
= ) Brother (#)
Releel—————— sanjeey
Daughter -
. )
ulh = s s
Daughter Son Son
() () (+) ()
Riya Rohan Pyare € Reema
hi (*) e *
T L S
a .
(+) () )
W= w 2
() )1 ()
Rt Rl T ==

Q-22 How many such digits are there in the number ‘967584231’ each of which is as far away from the beginning in the number as when they are arranged in
eng ascending order starting from right?

01. None 02. Two
03. One 04. Three

05. None of these
Q-22  HEAT'967584231' § UH fohae o1 &, SHH & W 3 A28 § 31 &t g2 &, (ST 3 59 375 a0 | el i § SHaerd fH6am Sirar 82

01. 7 02. =
03. TF 04. T
05. =% T 1S T

Solution for Question 22



eng 961|715 8 |4 2 3|1
981716 5 4 3 2|1

Ascending order

"i Jdef[]s5 823
9 81716 514 3 21
IRIE HH

Q-23 How many are such pairs of letters there in the word ‘STEELKING’ each of which has as many letters between them in the word as they have between
eng them in English alphabetical series?

01. None 02. One
03. Two 04. Three

05. None of these
Q-23 @58 ‘STEELKING’ ¥ 37&131 & U fohae Sire &, od & v o i 39 as8 § 3a+ & 37&17 &, 5 3 sRft v § s7% ST g & 2
hi

01. 7% 7E 02. T
03. =7 04. =
05. =% A 7S T

Solution for Question 23

eng 1 1
STEELEKI NG
L

11
S'II'EELKING

Passage for Question 24, 25, 26, 27 (ST-186SBICLERKPRE (72-75E)2019)
eng Passage

Study the following information carefully and answer the questions given below:

Eight persons — A, B, C, D, E, F, G and H are sitting on a straight bench facing North. Each have scored different marks viz. 10, 12, 14, 16, 17, 18, 19 and 20,
but not necessarily in the same order.

A has not scored 17 marks. The person who has scored 12 marks is sitting immediate left to that person who has scored 18 marks. D is sitting between A and G.
Only one person is sitting between the one who has scored 10 marks and the one who has scored 19 marks. F has scored 19 marks. Only two persons are sitting
between B and the one who scored 18 marks. B is an immediate neighbour of F and E. D is sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the row. B is not sitting extreme end of the row. D has scored 14 marks. H has not scored 18
marks. A is sitting extreme end of the row. B has not scored 20 marks. Five persons are sitting between A and B.

hi Passage

frafafag STasTd £ 1 samga T stegaT R AT fFrwrrasi ® sacdfya:

a3 ARE- A, B, C, D, E, F, G 31T H 3T &t 3IY @ &2 U HIdl 59 9T 95 &1 TAF 7 eRT-30T 3% 10, 12, 14, 16, 17, 18, 19 3T 20 9TH 67 8,
AT STERT gl o oI %9 § 2

AT 17 & 75t e o €)1 o =1f=e 7 12 ofF s 360 €, a5 30 =atw & i a1 Jot €, oee 18 oy 70 81 D, A 3T G % = § 937 81 F97 UF
=feF 3 =Rt o = 31 g, e 10 st e FoFw § i S 19 st s 3 81 F 919 o s 360 €1 B e e 18 stk wm w8, % i &t
F1 =T<F 9% 81 B, F 37T E &1 qFd 92141 81 D, A % q2a 310 921 g1 5 =1f=e 7 20 sie wra 3w &, =g |fcr % fret off sifow g v a8t Jo1 81 F il %
el oft sifo g aw 7Y o1 21 B uftr 3 et oft siftw g aw 7Y ST 81 DA 14 st wrw R 81 H T 18 3 781 wma o g1 A dfr F siffw g aw
FBT 1 BT 20 31 7! 98 FU 21 A #ii¥ B & = = =7t 9% 2

Q-24  How many person sit/sits between second to the left of G and H?
eng

01. None 02. 3
03. 2 04. 1

05. None of these.
Q-24 G % ¥ gAY ¥ H % A= # fraw =af=e 98 2/82



01. =rs Tt 02. 3

03. 2 04. 1
05. =% § F1S TEH
Solution for Question 24
cng I RN N S T I N |
& B 6 € FFB E
B A VAN A R IS N A
A D G C FFB E
Q-25 is an immediate neighbor of E
eng
01. C 02. A
03. F 04. B
05. G
Q-25 , E &1 @ TSI 2
hi
01. C 02. A
03. F 04. B
05. G

Solution for Question 25

eng 1%

b

;

12 18

EEREE

2

1

=

10

> o=

SREXRRS

Q-26 Four of the following five are alike in a certain way based on their seating positions and so form a group. Which of the following is different from the group?

eng
01. AG 02. CF
03. FB 04. DC
05. GH

Q-26 oo o & & 912 st Sow A Rurfa 3 srame a7 g9 € $iY wiory uE aug e &) Rt #§ & 1 a7 aent 82

01. AG 02. CF
03. FB 04. DC
05. GH

Solution for Question 26

eng

6 i 12 18 2

B ¥

TRERNEY

19 10

IRERREY

Q-27 ‘Who among following sit at the extreme end of the line?

10

eng

01. A F 02. A C
03. AB 04. A G
05. A E



Q-27 fuffed & & #m iftr ¥ dfm g w i e?

hi
01. A F 02. A C
03. A,B 04. A G
05. AE

Solution for Question 27

eng

6 0]

12
AD G C
TS VR R I

SEEEERY

18 bl

=

> =
>
—
—

Passage for Question 28, 29, 30, 31 (ST-186SBICLERKPRE (76-79E)2019)
eng Passage

Study the following information carefully and answer the questions given below:

Eight persons A, B, C, D, E, F, G and H living on an eight-floor building, ground floor is numbered 1 and topmost floor is number 8.

F is not living on second floor. Either B or F lives on fourth floor. B and C do not live on third floor. E lives immediately below that floor of on which H lives. There
are only two floors between the floor of A and B. A does not live on sixth floor. A is living between the floor of D and C. G lives on topmost floor. A lives on an
even numbered floor. E lives on sixth floor. B lives on an odd numbered floor.

hi Passage
et TTasTd F 1 amydF asgga fR A= Tt F sqhHa:

a3 =ARE A, B, C, D, E, F, G 3T H 313 T ATeAT THILA T Tgd 8, Hae A1 a1 il HEAT 1 g 3T Hae FUL % q il HEAT § Bl

F, TAY I IT 781 ¥gal gl AT ar B AT F 5 55t 12 w2ar 81 B 37T C f¥¥ a1 U2 781 T8d gl E S T % 31 A1+ ¥gar g, S aw H7gar 81 A i B
F A F A1 § FAA &1 AT 81 A, TSI qA UL Al LT gl A, D #iT C F T o = H T2ar g1 G Had FUL T T 9¥ T2aT g1 A UF T HE&AT AT q TT
TZdT 8| E, ¥4 a I¥ T2aT g1 B, TF faus HeaT a1 a1 9% ¥al gl

Q-28  How many persons are living between the floor of H and A?
eng

01. None 02. 3
03. 4 04. 5

05. None of these
Q-28 HIT AT IAF a1 § Fohae =Af<F @A 52

hi
01. Frs 7 02. 3
03. 4 04. 5
05. =% FF1E TA

Solution for Question 28

O PoREEIQ QO>O0REEIQ

i
%




Q-29 lives on 4th floor.

01. C 02. A
03. F 04. B
05. G

Q29  AITAWIEATE

01. C 02. A
03. F 04. B
05. G

Solution for Question 29

eng >G
F>H
=59
=B
=>F
=D
> A
=>C
hi =>G
F>H
=90
=B
=>F
—>D
=> A
=>C

Q-30 Four of the following five are alike in a certain way based on their seating positions and so form a group. Which of the following is different from the group?
eng

01. C 02. B
03. H 04. D
05. E

Q-30 fAwforfed o= ® & 1T 79 95 &l (R % AT 9 61 8 ¥ THT UF J4g a9 3| [Fetaiad § ¥ F:9 99 & 7797 82

01. C 02. B
03. H 04. D
05. E

Solution for Question 30

eng — G
—H
—>E
— B
—=F
— D
— A
— C
hi —> G
—>H
—>E
— B
— F
— D
> A
— C

Q-31 . lives on 7th floor.
eng

01. H 02. B
03. F 04. A
05. D

Q-31 _  HA@adq I Igaral

hi

01. H 02. B
03. F 04. A



05. D
Solution for Question 31

%
%

QA PUT®EIIQ APOAREEIN

Passage for Question 32, 33, 34, 35 (ST-186SBICLERKPRE (80-83E)2019)
eng Passage

Study the given information carefully and answer the given questions.

Eight persons are sitting around two circular tables as one is in centered to another one. All of them are facing towards the center.

L, M, N and O four persons are sitting around the inner circular table.

G, H, I and J four persons are sitting around the outer circular table.

Note- The persons of outer circular table are sitting exactly behind the persons sitting around the inner circular table.

L and M are not neighbour to each other. G is sitting exactly behind L. G is sitting between J and 1. G is sitting immediate right of I. O is sitting immediate left of M.

hi Passage
rafafag STasrd F1 sama-gd+ g st fRrTag s F 39T

AT AT &1 FATHRIT A1 6 A0 AT IS &, oTH TF F 37 qadT 7491 g1 T q01 1% &7 7 4@ F: 99 2

L, M, N 3iIT O =¥ T=F A JATRIE 8T % AT AT I 3

G, H, 1 3% J 91X = {<h aTg] It 61 & AT AT 35 2

Fre- a@aﬁwﬁw%aﬁﬁt%mﬁﬁ AT FRATHRTT T % AT I AT 6 316 T 95 )

L 3T M U gAY & 92l 751 21 G, L% 31 T 921 81 G, J i [ % = H 927 21 G, [ F 31 213 931 81 O, M F 31 976 997 &

Q-32  Who among the following persons is sitting exactly behind O?

eng
01. G 02. H
03. H/J 04. GH
05. J

Q-32 fwfofea & & 19 =1ftw O ¥ 2% = 21 82

hi
01. G 02. H
03. HA 04. G/H
0s. J

Solution for Question 32

eng .
H G

hi J
H G

Q-33 . Who among the following persons sits between G and J?

eng

01. None 02. 1H



03. 1 04.

05. Cannot be determined

Fraferfad & & #19 =1 G T I F = # dor 22

01. Fré 7St 02.
03. 1 04.

05. At 7t foraT ST aear

Solution for Question 33

eng

Q-34

eng

J

an)

Who among the following persons is sitting in front of H?

01. L 02.
03. N 04.
05. oM

FRrerferfera ® & %1 |7 =7f< H % a1/ 981 82

01. L 02.
03. N 04.
05. oM

Solution for Question 34

eng

Q-35

eng

Q-35

hi

J

‘Who among the following persons is sitting immediate right of O?

01. L 02.
03. N 04.
05. L/M/N

ot srfeat & & 19 0 & Ta a0 J271 82

01. L 02.
03. N 04.
05. L/M/N

Solution for Question 35

M/N

M/N



eng 1

Q-36  Inacertain language "TIMES" is written as "'79548". How will "INDIA" be written in that code language?
eng

01. 18132 02. 45989
03. 94598 04. 49589

05. None of the above
Q-36  Inacertain language "TIMES" is written as ""79548". How will "INDIA" be written in that code language?

01. 18132 02. 45989
03. 94598 04. 49589
05. None of the above

Solution for Question 36

eng Opposite the letters then add the place value of the letters.
hi Feet & BT s w2 Y o9 ol ¥ T AW & e |

Passage for Question 37, 38, 39, 40 (ST-186SBICLERKPRE (87-90E)2019)
eng Passage

Study the following information carefully and answer the questions given below:

In a certain code language,

‘HELLO BUT TRUE’ is written as ‘R1S P3R P1E’,

‘WONDER AM HELLO?’ is written as ‘P3R W4H USI’,

‘HIS WONDER TRUE’ is written as ‘U8I P1E J9K’ and
‘GREAT DEAL WONDER?’ is written as ‘B7Y USI M5T". Then...

hi Passage
fRafafaa srasrd &1 eamgd® ssgga w2 ooy ® sacdifcm:

e fAfsrg g wro A,

‘HELLO BUT TRUE’ #T ‘R1S P3R P1E’,

‘WONDER AM HELLO’ #T ‘P3R W4H USD’,

‘HIS WONDER TRUE’ #T ‘USI P1E J9K’ =fiT

‘GREAT DEAL WONDER’ #T ‘B7Y USI M5T’ fer@T Sirar £ av ........

Q-37  Whatis the code for ‘HIS*?
eng

01. UsI 02. JoK
03. PIE 04. P3R
0S. Either option (02) or (03)

Q-37  “HIS’ T T FIS AT

01. UslI 02. JoK
03. PIE 04. P3R
05. 777 =T (02) 37 (03)

Solution for Question 37

eng
Word /[5G Code/®I5




Q-38

eng

I_IK:LL\J‘ o

BUT R1S

TRUE P1E

WONDER usl

AM W4H

HIS 19K

GREAT/DEAL B7Y/M5T
[+#]

Word /UG Code/®I5

HELLO| P3R

BUT R1S

TRUE P1E

WONDER usl

AM W4H

HIS 19K

GREAT/DEAL B7Y/M5T

What is the code for ‘GREAT’?

01. W4H
03. MS5T

05. Either option (02) or (03)
‘GREAT’ T #4T #I< gHIT?

01. wW4H
03. M5T
05. =7 7 fare (02) AT (03)
Solution for Question 38
— _
eng Word/Tsg Code/FIS
HELLO| P3R
BUT R1S
TRUE P1E
WONDER usi
AM WA4H
HIS J9K
GREAT/DEAL B7Y/M5T
hi 3
Word/Msq CodeFﬁB’
HELLO| P3R
BUT R1S
TRUE P1E
WONDER usl
AM WAH
HIS J9K
GREAT/DEAL B7Y/MST

Q-39

eng

What is the code for ‘TRUE’?

01. usI
03. PIE

05. RIS
“TRUE’ T F4T 1€ gRIT?

01. UsI
03. PIE
05. RIS

Solution for Question 39

eng

[

Code/HI3

uri Al Dap

Word /s

02.
04.

02.
04.

02.
04.

02.
04.

B7Y
U8l

B7Y
UsI

JOK
P3R

JOK
P3R



ke | 3
BUT R1S
TRUE P1E
WONDER usl
AM W4H
HIS 19K
GREAT/DEAL B7Y/MST
hi A
Word/sG Code/®13
HELLO| P3R
BUT R1S
TRUE P1E
WONDER IE]
AM W4H
HIS JoK
GREAT/DEAL B7Y/MST

Q-40  Whatis the code for ‘AM’?
eng

01. W4H 02. B7Y
03. MST 04. USI

05. None of these
Q-40  AM’ FT FITHIE TAT?

01. w4H 02. B7Y
03. M5T 04. USI
05. =8 q FIE A1

Solution for Question 40

]

eng

Word/?Tsq Code/®IS

HELLO| P3R

BUT R1S

TRUE P1E

WONDER usl

AM W4H

HIS 19K

GREAT/DEAL B7Y/M5T

ju

hi N

Word/EG Code/®I5

HELLO| P3R

BUT R1S

TRUE P1E

WONDER usl

AM WA4H

HIS 19K

GREAT/DEAL B7Y/M5T

Passage for Question 41, 42, 43, 44, 45 (ST-134 CRP CLERK PRE (1-5) 2019)
eng Passage

In the bar-graph information about number of employees of various departments in various company has been given. Study the data carefully and answer the
questions given below.

EEE8E8888E




DMarketing DHR O Account

hi Passage
FTE-UTE H FAfo Fuet % fAfere fFrwnn F FH=riat i 9631 F ai § TSl &7 TS g AFHST FT AT AIa STedq F3 o7 = 3w T ot 6 397 )

i b

Oafffr Ovesik  Odar

GEEEEEEEEEEELE

Q-41 What is the ratio of number of employees of Marketing department from company C, Account department from company G and HR department from
eng company A respectively?

01. 9:4:2 02. 45:44:55
03. 9:13:19 04. 45:52:38

05. None of these
Q-41  FAT C F AT faramT, FOAT G 7 <@ T o FueT A & U= fFramr & FH=m it 9 7 FH8F dqra #7497 82

01. 9:4:2 02. 45:44:55
03. 9:13:19 04. 45:52:38
05. =7 & s et

Solution for Question 41

eng Required ratio =450 : 520 : 380 =45 : 52 : 38

hi ATARID Ul =450 : 520 : 380 =45:52: 38

Q-42 In which company the total number of employees of Marketing and Account department is second highest?
eng

01. G 02. A
03. B 04. F

05. None of these
Q-42 o T & WA Sl <@ fAwnT o et FH=TET AT HeAr gadl Hatfe® 82

hi
01. G 02. A
03. B 04. F
05. i & T

Solution for Question 42

eng The total number of employee of Marketing and Account department in company A = 550+470 = 1020
The total number of employee of Marketing and Account department in company B = 440+420 = 860
The total number of employee of Marketing and Account department in company C = 450+450 = 900
The total number of employee of Marketing and Account department in company D = 480+450 =930
The total number of employee of Marketing and Account department in company E = 460+320 = 780
The total number of employee of Marketing and Account department in company F =430+470 = 900
The total number of employee of Marketing and Account department in company G = 520+520 = 1040
In company A the total number of employee of Marketing and Account department is second highest.




hi FUN AT AR R @ R B G A B
=550 + 470 = 1020
FUN B3 AR N ET R B G AR T T
= 440 + 420 = 860
Fue ¢ 3 AR AR o R & ge BHAR B e
=450 + 450 = 900
FUe D3 BRI AR A R B T P B G
=480 + 450 = 930
FUN E 3 AR AT wr R B g wAAR B dw
=460 + 320 = 780
FUA F 3 FART IR ST R B B A B wEr
=430 + 470 = 900
Fue 63 FER AR S RET B Fe BHY B GE
=520 + 520 = 1040

FUA A F ABRET IR @ AT & FoI FAAR A FEA gEY TAH HAF

Q-43 What is the total numbers of employees of HR department from company C, F, A and G.
eng

01. 1840 02. 1740
03. 1640 04. 1940

05. None of these
Q-43  FIC,F, A 3T G & U= foramT & FHAT 6T FT 971 77 22

hi
01. 1840 02. 1740
03. 1640 04. 1940
05. =73 & s T

Solution for Question 43

eng Total number = 420-+500+380+440=1740

hi Hel HEIT = 420+500+380+440=1740

Q-44 In the Marketing Department of Company-D, the number of female employees is 60% of the number of male employees. Find out what is the number of
eng male employees?

01. 240 02. 320
03. 300 04. 180

05. None of these
Q-44  FAAT-D F AT FraWT | ATAT FHATRAT T H&AT T FHATAT 301 ST HT 60% 3| T i o1 T& FHATRAT 267 HEAT F47T 82

01. 240 02. 320
03. 300 04. 180
05. = F 1S TS

Solution for Question 44

eng Let total 10x male employees and 6x female employees.
Now, 10x+6x =480, x =30
So number of male employees = 10x = 300

i AT Fel 10x ToF Haarl 3R 6x FAfer wafary &)

34, 10x + 6x = 480, x = 30



dl Y SATAT T HEAT = 10x = 300

Q-45 The number of employees of Account department from company E, is what percent of number of employees of HR department from company C?
eng

01. 191.30% 02. 91.30%
03. 90.48% 04. 109.52%

05. Cannot be determined

Q-45 T E & @@T fOamT & R FHATRAT 61 64T, FAA1 C F TH a6 FH=rt it €71 7 fhaar gt 82

01. 191.30% 02. 91.30%
03. 90.48% 04. 109.52%
05. fReifea 7t foam St &sar

Solution for Question 45

eng Required percentage = 460/420x100 =109.52%
hi 3MaTS Ufaerd = 460/420x100 =109.52%

Q-46 Two numbers are in the ratio of 3 : 5. If 18 be subtracted from each, then they are in the ratio of 15 : 37. Find the difference of the numbers.
eng

01. 11 02. 22
03. 12 04. 24
05. 18

Q-46  ETHEATG3 : 5% AT § 2 | T T4 H & [ SETATSTAT S AT 15 : 37 % ATUTT § B TN & | HSATA F 1= | A7 H1eT Airfor |
hi

01. 11 02. 22
03. 12 04. 24
05. 18

Solution for Question 46
eng Let the numbers be 3x and 5x respectively.
According to question,

3x-18 15
5218 37

111% —-666=T5x -T720
36x =396

x=1]]

Difference = (5-3) x
=2x11=22

HATAT TEIATT HAL: 3x T 5x 8 |

=18 15
52-18 37

111x - 666 = 75x =720
36x =396

x=11

3R = (5-3) x
=2x11=22

Q-47 If 15 coins of Rs 2 and Rs 5 are put together in a piggybank in the ratio of 2 : 3, then how many rupees are there in the piggy bank?
eng

01. Rs64 02. Rs57
03. Rs45 04. Rs 60

05. None of these
Q-47 FfR2%FTISEFFHA 1S Mg TF AT 2 :3 F Aqura § ol Toard § =1 U S v, Yo § |/ e 207 gir?
hi



01. 64% 02. 57%
03. 45% 04. 60%
05. =i & Frs T

Solution for Question 47

eng According to the question,

Number of the Rs 2 coins = A5, X2=6
2+3

So number of Rs 5 coins = 15-6 =9

Total amount = 6X2 + 9X5 = Rs 57

B UH B AR,
2% d oA e =2 w2-¢
243
a5 U B e & &I = 156=9

Rl AIRT = 6x2+9x5=57%

Q-48 A person sold a toy for Rs.136 and got 15% loss, had he sold it for Rs. N, he would have got a profit of 15%. Which one of the following is correct?
eng

01. 190 <N <200 02. 180<N<190
03. 170 <N <180 04. 160 <N<170

05. None of these
Q-48  UF ARH 7 UF AT FT 136 FTF § 4T 37T 37 15% THATT g, FIT I8 6 el H1 N 9T H I=q1 a1 39 15% FT A1 foerman Fetaa
hi o ¥ FI AT AR 82

01. 190 <N <200 02. 180<N <190
03. 170 <N <180 04. 160 <N <170
05. =% T IS AT

Solution for Question 48

eng Cost price = (selling pricex100)/(100 - loss%)
= (136x100)/(100 - 15) = (136x100)/85 = Rs.160
Selling price (N) = 160x(100 + 15)/100 = (160x115)/100 = Rs.184
Hence option (2) is correct

hi e = (Fersh qex100)/(100 - loss%)
= (136x100)/(100 - 15) = (136x100)/85 = 160 T
forsha g (N) = 160x(100 + 15)/100 = (160x115)/100 = 184 ¥4
FACIC foehed (2) W &

Q-49 A, 180 m. long train moving at the speed of 20m/s.overtakes a man moving at certain speed in the same direction in 18 seconds. What is the speed of the
eng man in km/hr.

01. 15km/hr. 02. 20 km/hr.

03. 24 km/hr. 04. 30 km/hr.

05. 36 km/hr.
Q-49 T 180 ¥ T A ST 20 H/A. FT AT F AT FT Tl g, THE (T 7 T [T =t & =1 72 ARG F 18 FH0eH § I FIAT ¢ | AT<h il
hi =T ST Ao |

01. 15 foef./5eT 02. 20 foHT./5eT

03. 24 Y. /5eT 04. 30 foreT./5eT

05. 36 foeT./5eT

Solution for Question 49

eng Let speed of the man = x m/sec.



Relative speed = (20 - x) m/sec.

Then,

_l_s_"_ =18

2=x
180=360~18x

18x =180

x =10
=10x3.6=36 km/h

hi AT Re T At =x A/,
ATUET ATl = (20 - x) A /A,

% =10
=10x3.6=36 F{1/aaT

Q-50 A cistern is normally filled in 4 hours but takes another 1 hour longer to fill because of a leak in its bottom. If the cistern is full, the leak will empty it in.
eng

01. 16 hours 02. 20 hours
03. 25 hours 04. 30 hours
05. 40 hours

Q-50 U T ATHTATAT 4 = F WAT g ATk qelt 7 R 2 o6 F1eor 9 # 1 ey ofafiwd ot § | afy & o i 8, o 28wt |
hi

01. 16%e 02. 20%e
03. 25+%e 04. 30 e
05. 40 =e
Solution for Question 50
eng Part emptied in 1 hour by the leak = bt
4 5
i 5—4
20
_ 1
20
The leak will empty the full cistern in 20 hours.
= g g7 1692 3 @reh Rpar o omr = L1
4 5
_5-4_ 1
20 20

g S P 20 8¢ F @rell T 2Im |

Q-51 What value will come in place of question mark (?) in the following questions?

e ? % of 1600 = 879 — 22% of 2250
01. 24 02. 22
03. 20 04. 21
05. 18

Q-51 = ol ® weaare =g (?) F T 92 F47 A4 2

hi

1600 =T ? % = 879 — 2250 =T 22%

01. 24 02. 22
03. 20 04. 21
05. 18

Solution for Question 51



eng ?%eof 1600 = 879 — 22% of 2250
o e
?%0f 1600 =879 ———x 2250
100

879495
1600
_ 384x100
1600

7=24

hi ?%eof 1600 = 879 — 22% of 2250

20

2

22
?%0f 1600 =879 ———x 2250
100

ros  879=495
1600

_ 384x100

1600

7=24

2

Q-52 What value will come in place of question mark (?) in the following questions?

e 28.5x31.4 x?2=15034.32
01. 16.8 02. 164
03. 142 04. 158
05. 13.4

Q-52 = ot 9 weraTae =g (?) % T 9% T S 2

28.5x31.4 x?7=15034.32

01. 16.8 02. 164
03. 142 04. 158
05. 134

Solution for Question 52

eng 28.5 x 31.4 x?=15034.32
15034.32

285 x 314

?7=16.8

9=

hi 28.5 x 31.4 x? = 15034.32
g 1503432
285 x 314
2=16.8

Q-53  What value will come in place of question mark (?) in the following questions?

eng
9800 + 25+ 790 — 212 =?

01. 970 02. 972
03. 974 04. 976
05. 978

Q-53 T ol ® WA =g (2) F T 9% F#47 A4 2

9800 + 25+ 790 - 212 =?

01. 970 02. 972
03. 974 04. 976
05. 978

Solution for Question 53

eng 9800 +~ 25 + 790 — 212 =?
?7=392+790-212
?7=1182-212
?7=970

hi 9800 +~ 25 + 790 — 212 =?
?7=392+790-212
?7=1182-212
?7=970



Q-54 What value will come in place of question mark (?) in the following questions?

eng

/112896 +192x27=131.25

01. 60
03. 75
05. 90

Q-54 = ol § WA= =g () F T 9 F#47 A

112896 192 7=13125

01. 60

03. 75

05. 90
Solution for Question 54

02.
04.

02.
04.

30
120

30
120

eng J112896 +192x7=

1
336+192x7=131.25

- -
13125

TT17s
e

hi 112896 +192::7=131.25
336+192x7=131.25
1L75x7=131.25%
, 13125
1Ts
=75

Q-55 What value will come in place of question mark (?) in the following questions?

eng

01. 27

03. f5

05. 9

02.
04.

81
729

Q-55 = ot § werETee =g (?) F T 9% FT SEE ?

01. 27

03. f5

05. 9
Solution for Question 55

02.
04.

81
729

eng H CET T RTI
=819
T=(81+9)’
=i

T=T29

hi FEaa-e =40
i =81+9
7=(81+9]"
r=fo)

=719

Q-56 What value will come in place of question mark (?) in the following questions?

eng
44 52 79 7 268 484

01. 133
03. 131

02.
04.

137
145



05. 143
et deT — gaar # wyar=s g (2) F S 9 #4790 2

44 52 79 7 268 484

01. 133 02. 137
03. 131 04. 145
05. 143

Solution for Question 56

eng

hi

Q-57

eng

+23, 433, +43, 453 +6°

+23, 433, +43, +53, +63

What value will come in place of question mark (?) in the following questions?

529 538 1085 3264 ? 65334

01. 13000 02. 13065
03. 13055 04. 9801
05. 13498

et deT — et # wyar=s g (2) F T 9 F#:47 AR 2

529 538 1085 3264 ? 65334

01. 13000 02. 13065
03. 13055 04. 9801
05. 13498

Solution for Question 57

eng

hi

Q-58

eng

X1 +9,%x2+9,%x3+9,x4+9,x5+9
X1+9,%x2+9,%x3+9,x4+9,x5+9

What will come in place of question mark (?) in the following number series?

26 13 195 ?  170.625 767.8125

01. 48.50 02. 58.75
03. 47875 04. 48.75
05. 55

Rferfed wem — @ § wEm=s =g (2) F T 9% F47 SAEET 2

26 13 195 7 170.625  767.8125

01. 48.50 02. 58.75
03. 47875 04. 48.75
05. 55

Solution for Question 58

eng

hi

Q-59

eng

x0.5, x1.5, x2.5, x3.5, x4.5
x0.5, x1.5, 2.5, x3.5, 4.5

What will come in place of question mark (?) in the following number series?

& 18 40 ? 192 416

01. 84 02. 88
03. 94 04. 80
05. 86

et deT — gaar # wyar=s (g (2) F T 9 47 AR 2

8 18 40 2?2 192 416
01. 84 02. 88



03. 94 04. 80
05. 86
Solution for Question 59

eng X2+ 2, %2+ 22 x2+23 x2 + 24 x2+2°

hi X2+ 2, %2+ 22 x2+23 x2 +24 x2 425

Q-60  What will come in place of question mark (?) in the following number series?

e 484 676 900 1156 ? 1764

01. 1444 02. 1584

03. 1484 04. 1684

05. 1590
Q-60 TAwfaiEd S&T — Ja@dr § Taar=a =g (?) F T 92 F4T A2
hi

484 676 900 1156 ? 1764

01. 1444 02. 1584
03. 1484 04. 1684
05. 1590

Solution for Question 60

eng 222,262, 302, 342, 382, 422

hi 222 262, 302, 342, 382, 422

Q-61 Naimish bought an article and paid 20% less than its original price. He sold it at 40% profit on the price he had paid. The percentage of profit earned by
eng Naimish on the original price was.

01. 12% 02. 18%
03. 20% 04. 229,
05. 329%

Q-61 ST F UF awg @ITAT oY THF T | 20% FH T AT | ST A ToF T 40% F AT F 37 9 {347 | G Fq 92 10 gy aiia
hi [ERIRRIEIE: I

01. 12% 02. 18%
03. 20% 04. 22%
05. 32%
Solution for Question 61
eng Let the original price be Rs, x.
CP = ﬂ)(}; =Rs 4_}L
100 5
SP = wi& =Rs 2
100 5 25
. .. . 28x
Gain on original price = - X
23
_ By
25
Gain %= —* x100=12%
25%
hi ATET o A % x ofF |
CP = ﬂ)(}_ =Rs 4_}L
100 5
SP = &4_}“ =Rs =
100 5 25
el Bl T T = 2y
25
_ By
25
HY%= . 100=12%

25x



Q-62  How many words can be formed with the help of the letters of the word "DISCOVER"?
eng

01. 20160 02. 40320
03. 13440 04. 10080

05. 8064
Q-62 w5 "DISCOVER" % 1&g & fohael fafs7er ore2 a1 SI7 9l 22

01. 20160 02. 40320
03. 13440 04. 10080
05. 8064
Solution for Question 62
eng Number of words formed by different letters of the word "DISCOVER"
=38!

=8XTX6x5x4x3x2 x1]
=40320

hi Qlec "DISCOVER" @ 37&RT & Ia0 ST Hebel il TATHeed Aeal I F&AT
=g!
=8XTXx6Xx5%x4x3x2 x1
=40320

Q-63 A and B rented a room dividing the rent in the ratio of 4 : 5. C joined them after six months giving the rent equal to that of A. What will be the part of rent
eng of C in the total rent of Rs 2200 at the end of 1 year?

01. Rs400 02. Rs 800
03. Rs 450 04. Rs 600

05. None of these
Q-63 ASTTBIABITHT4: 5% TG | AT F2d U TFH HHI (10 9 for=T| C 37 979 B Al % 918 A F a6 [0 ST Grenferd
hi BIAT 1 1 AT % 3 | 2200 F97 F F7F 270 | C F e 7 fBear #47 g

01. 400% 02. 800%
03. 450% 04. 600%
05. gt i AT

Solution for Question 63

eng According to the question,

Ratio of rent at the end of a year of A : B: C=4x12: 5x12 : 4x6
=4:5:2
2200

So rentofC=T x 2 = Rs400

i U @ AR,
A:B:C & U a¥ & 3Hd H FFUT &1 Igurd =4x12: 5x12 : 4x6
=4:5:2
ar car fommr =22 x 2= 400%

Q-64 Ravi has covered the distance of 120 km with the speed of 15 km per hour by walking and 180 km with the speed of 20 km per hour by cycle. What was
eng Ravi's average speed?

01. 180/7 Kmv/hr 02. 120/7 Km/hr
03.  300/7 Kmv/hr 04. 240/7 Km/hr

05. None of these

Q-64 T 120 Bt o 21 v 15 TRt wiey sfer & =mer & Graer @ 180 et Y g #r 20 et iy sret Y =er & wrfrer & @ v g1 s Aoy
hi i = sfrera =Ter 7 o

01. 180/7 farefi/eieT 02. 120/7 fFH/EeT
03. 300/7 /=T 04. 240/7 e/ eeT
05. =H ¥ IS 7Sl



Solution for Question 64

eng Average speed
Total Distance _ 120+180
B ~ 120,180
15 20

Total time

=300/17 km/hr

hi 3 =rel

Fgl _ 120+180
Hogayg 120,180
= 15 20

=300/17 fepalt /8eT

Q-65 The side of a square is equal to diameter of a circle. The area of the circle is 346.5 cm?. What is the area of the square ?
eng

01. 441 cm2 02. 484 cm?2
03. 576 cm2 04. 361 cm2
Q-65  UF T At $[AT UF T F ATH F TH gl I HT ATFA 346.5 HHIZ g1 a0 A7 &R F4T 82

01. 441 q#i2 02. 484 Tfy2
03. 576 T2 04. 361 T2

Solution for Question 65
eng 346.5 = %nz
r=10.5 cm.
Side of square = 10.5%2
=21 cm.
Area of square = 21x21
=441 cm?

346.5= ?x r?

r=10.5 9.

it B o =10.5%2
=21 941

T B &AE = 21x21
= 44194

Q-66 12 persons went a hotel for taking their meals. 11 of them spent Rs 150 each over their meals and the 12th spent Rs 22 more than the average expenditure
eng of all . What is the amount that 12th has spent on his food?

01. Rs155 02. Rs 151
03. Rs 154 04. Rs 152

05. None of these
Q-66 12 = ATAT IS @ F o107 TF greet | ITH & 11 7 I Ao 92 150 797 @5 60 37T 12 F 7 77 A7 5 i 6d @9 6l T § 22 797
hi srfers = o) =g TITer 7T & ST 12 3 9 319+ SISt 9% @+ ohl 87

01. 155% 02. 151%
03. 154% 04. 152%
05. it & Fr 7
Solution for Question 66
eng Let the average expenditure of food is Rs x.
11x150+x+22
Now, average amountspendbyall= ———~""— =~ == =x
12
x =Rs 152

12th Person expenditure = 152 +22 = 174

hi AT T T T EH x ® 2
o oY gIeT @ e wpfer = 11X100+aH22

12
x =152 =9%



12 TAREFTEH = 152 +22 = 174

Q-67 A and B together can complete a work in 15 days. B and C together can complete the same work in 20 days. A and C together can complete the work in
eng 30 days. What is the respective ratio of the number of days taken by A while completing this work alone to the number of days taken by C while
completing this work alone?

01. 1:3 02. 3:1

03. 1:2 04. 1:4

05. 4:1
Q-67 AT BUT AT UF FHTH & 15 &A1 § T FT G | B 3T C IHT F1F &1 e 20 f&F § 7 F7 T 1 AT C 38T w14 1 e 30 &t
hi H O FY G 8| THT FE T A T G el T2 H2A # [0 70 H80F 37T C 3 FTIT el SHT H1H 1 T HA § (0 T FTHT FHT SJTI0T FAT 2 2

01. 1:3 02. 3:1

03. 1:2 04. 1:4

05. 4:1

Solution for Question 67

eng A+B =15--------- 4
B+C = 20--------- 3
A+C = 30--------- 2
A+B+C----------- 4.5
A=4.5-4=1.5
C=2-1.5=5
A:B=5:15=1:3

hi A+B = 15--------- 4
B+C = 20--------- 3
A+C =30--------- 2
A+B+C---------—- 4.5
A=4.5-4=1.5
C=2-1.5=5

A:B=5:15=1:3

Q-68 A can travel 420 m in 5 minutes, B can travel 360 m in 9 minutes and C can travel 438 m in 15 minutes. What is the average speed of A, B, and C?
eng

01. 40 my/minute 02. 41 my/minute
03. 45 m/minute 04. 42 m/minute

05. None of these
Q-68 A5 THTE H 420 HT ST 7T €, B 9 Fete # 360 HT ST &aaT € 37T C 15 fiee # 438 9t <7 &1 21 A, B 3% C 7 Si&d =1t 471 872
hi

01. 40 Hex /fme 02. 41 "z /M=e
03. 45 "X /fAme 04. 42 ez /MA=e
05. =8 T FIS 75

Solution for Question 68

eng Total distance

Average speed =
Total time
420+ 360+ 4338

5+9+15
hi
g Tra = Eﬁ—
Tl HHA

JmaeTs stag = Y20 +360+ 438, ey e
5+9+15

Required average = = 42 m/minute

Q-69 Three men A,B and C start a business together. They invest Rs. 30000, Rs. 24000 and Rs. 42000 respectively in the beginning. After 4 months B took out

eng Rs. 6000 and C took out Rs. 10000. If they get a profit of Rs. 12160 at the end of the year then find the share of B in the profit ?
01. 2784 02. 2850
03. 2878 04. 2908

05. 2899



Q-69

hi

T qET A, B #f¥ C UF ST UF AT & F7d &1 a8 FHAA: T 30000, F 24000 3T % 42000 FT {497 FF AT TEF F7d § | 4 TeI4 978
I (7991 § & B & 6000 AT &@T 2 3T C ®10000 T oaT & | T7 a9 F 31T § Trg & 12160 FT ATH g7 AT B FT ATHTLT TG HIord 2

01. 2784 02. 2850
03. 2878 04. 2908
05. 2899

Solution for Question 69

eng

Q-70

eng

Q-70
hi

eng

30000x12 : 24000x4 + 18000%8 : 42000x4 + 32000%8
=45:30:53

B= 30 12160=2850
128

30000%12 : 24000x4 + 18000%8 : 42000x4 + 32000%8
=45:30:53

B= 30 . 12160- 2850
128

A man travell 1145 km journey by car ,bus and flight respectivly ,the speed of the car and bus is 45 km/hr and 60 km/hr respectively, then find the ratio
between the time taken by the person to cover the distance by car and bus which is 18% and 24%.

01. 23 02. 1:1
03. 32 04. 56
05. 11:13

U =TE 1145 Bt 7t T 1 F12, 99 U4 gaT TerSt F FoqdT 8, FTE T F7 TAqT a9 ¥ 97 w797 45 Tredi/zer siv 60 fredy/=er g, v =i
FIRT T & JAT I F TF FA H o707 T T7T T TG AT FITT ST FHA G T FALD: 18% T 24% 2|

01. 23 02. 1:1
03. 32 04. 56
05. 11:13
Solution for Question 70
18 24
Required ratio= 1145)(%: 1145)(@ 54
45 60
18 24
11455x— 1145x—
Tt g = 00,100 _4:4
45 ' 60 '

Q-71

eng

Q-71
hi

What value will come in place of question mark (?) in the following question ?

310648 < /5832 + /16 = ?

01. 396 02. 400
03. 356 04. 360
05. 420

Fraferfea wer & weramas g (2) 3 T 9% #4791 rAE?

310648 =< 3/6832 + /16 = ?

01. 396 02. 400
03. 356 04. 360
05. 420

Solution for Question 71

eng

Q-72

22x18+4=2
396+4=?
2 =400

22x18+4=?
396+4=2
? =400

What value will come in the place of question mark in the following question ?



eng

Q-72
hi

V1936 2

1 f40.96
01. 2826 02. 284.6
03. 281.6 04. 280.6
05. 271.6
oo g § wrErE e (2) F T 9 F6T G A ?
NCE

1 J10.96
01. 282.6 02. 284.6
03. 281.6 04. 280.6
05. 271.6

Solution for Question 72

eng

hi

Q-73

eng

?7=281.6
?=281.6

What value will come in the place of question mark in the following question ?

344%34/2 =553

01. -2 02. 0
03. | 04. 2
05. 1.5

foT o o & weraTE e (2) 3 T 9 T 9T AT ?

3 44%3/2 =5%3.2

01. -2 02. 0
03. | 04. 2
05. 1.5

Solution for Question 73

eng

hi

Q-74

eng

Q-74
hi

What value will come in place of question mark (?) in the following question ?

2 4 3 _

gof ?of gof?SO— 146

01. 3 02. 5
03. 7 04. 9
05. 11

Freferfer wer & weramas g (2) 3 T 9% #4791 SAE?

730 T ETFT 2 5T g—146.

8 ? 3"
01. 3 02. 5
03. 7 04. 9

05. 11

Solution for Question 74

eng

2 4 3
= of _;of gof 730 = 146

N W

L

xgx x 730 =146



~ L
2x4x3x730 = 146x3x8x7?
2x3x4x730

146 <3 x 8

7=

VN

of = of %of 730 = 146

i><§><73C1':146
? 8
2x4x3x730 = 146x3x8x7?
_ 2x3x4x730
146 <3 <8

?7=5

Q-75 What value will come in the place of question mark in the following question?

eng
6475+ 9625+ 31 +425=2

01. 16556 02. 17446
03. 16446 04. 16966
05. None of these

Q-75 RUTT YT | wIaT=e e (?) F T T2 F7 71 AT0IT?

6475 +9625 +31+425="7

01. 16556 02. 17446
03. 16446 04. 16966
05. =8 F FIE Al

Solution for Question 75

eng ?7=16556

hi ?=16556

Passage for Question 76, 77, 78, 79, 80 (ST-125 MATHS 2019 DI-1)
eng Passage

Study the following information and answer the questions given below.

A college consisting of 1560 students has boys and girls in the ratio of 7:5 respectively. All the students are enrolled for different Places via Shimla, Nainital and
Manali. 1/5 of the boys are enrolled for only Nainital tour. Twenty percent of the girls are enrolled for only Manali tour. Ten percent of the boys are enrolled for only
Shimla tour. Twenty four percent of the girls are enrolled for both Shimla and Nainital tour together. The number of girls enrolled for only Shimla tour is two hundred
percent of the boys enrolled in the same. 1/13 of the boys are enrolled for all the three tours together. The respective ratio of boys enrolled for Nainital and Manali
tour together to the girls enrolled for the same is 2:1 respectively. Ten percent of the girls are enrolled for only Nainital tour where as eight percent of the girls are
enrolled for both Nainital and Manali tour together. The remaining girls are enrolled for all the three tours together. The number of boys enrolled for Shimla and
Nainital tour together is fifty percent for the girls enrolled for same. The remaining boys are enrolled for only Manali tour.

hi Passage
frafrfaa TR sraerga w2 A9 frgro rat & 39 |

T FisT & 1560 =ty § @iz T aefongt F7 o wHer: 7:5 3. T« Gt fwmer, aare @ /aret At e & oo amiFa § | a6 8§ §
1/5 Faet A arer 2% o forw amaitea foram Sar & | Tt § | 919 Siaerd #ae qq1et 18 o7 arifad &, T °§ § 39 Ta9rd #ad (9T 17 %
forw ammifeara 8. = wftera it e arr forme s afarer D91 22 % foro amifd g | Fae forer 31 & forg it @t i d@ear 36 &
ATHITRT A= T 200 TIAAT . 1/13 A= TAT T TIA I 6 (70 ATHIHRT &, AT ST TATAT 1Y o To70 AT gie aATel A= qAT ASTHRIT A7
FHE AT 2:1 € | ASTHRAT H | T9 TQ9qd Faer Aorare a1¢ & (o7 Araifd 8 Sath e gfterd dfarat a=iare si¥ 7areft a1 % fore qraitha & o
e it ot <1 3 forw aaifera 21 forma qu aearer <M1 & for arafra g arer arer At 7 giaad a8 & o i s w1 o= gfaerd
g, T AT FAA FATAT Z1E o (o0 AT 2|

Q-76 What is the respective ratio of the number of girls enrolled for only Manali tour and number of boys enrolled for only Nainital tour together to the number of
eng boys enrolled for the only Manali tour and number of girls enrolled for only Nainital tour together?

01. 35:52 02. 17:22
03. 78:89 04. 52:78



Q-76

05. 5275

FA AATAT I1¥ o Torw Aritera frw o sreferat it S i Fae Aare 1Y & oI aTeifhd AShl Sl e JedT AT Fae q9TT & o forg
ATHTTRT AEHI T HEAT TAT FAA AAATA QL [oIT ATHIThT ASTRAT T Tl HEAT HT HIHE FTATT FIT 82

01. 35:52 02. 17:22
03. 78:89 04. 52:78
05. 52:75

Solution for Question 76

eng

Q-77

eng

Q-77
hi

Places Boys Girls
Manali 385 130
Shimla o1 182
Nainital 182 65
Nainital and Shimla | 78 156
Nainital and Manali | 104 52
Nainital, Manali and | 70 65
Shimla

REQUIRED RATIO= (130+182) : (385+65)=52 : 75

e wEh e
T 385 130
TR 91 182
ERiGIG 182 65
AT # 78 156
AT S AT 104 52
ST, FATT AT 70 65
TR

37+t 37T = (130+182) : (385+65)=52 : 75

Number of girls enrolled for only Nainital, only Shimla and only Manali tour together is approximately what percent of the boys together enrolled for the
same?

01. 65% 02. 71%
03. 44% 04. 57%
05. 48%

FAA AAIATA, Fael AT 3T Fael HATAT IT¢ F TorT ATHITHRT ASTHAT AT TEAT I7al SR & (o7 ATHIohd AS T T HEAT T FhaaT sfaerd 82

01. 65% 02. 71%
03. 44% 04. 57%
0S. 48%

Solution for Question 77

eng

Q-78

eng

Number of girls for only Nainital, only Shimla and only Manali tour = 130+182+65 =377
Number of boys for only Nainital, only Shimla and only Manali tour = 385+9+182 = 658
Required per cent = (377 x100)/658= 57.29

el AHIATe, heleT TRTHAT 3T Shared AATeAT 1 o foTT TTHifeRa eTeferat sl Tedm = 130+182+65 = 377
el AHIATe, el RTHAT 3T Shared ATt S o foTT TTHifehd TTgehl shi TEaT = 385+9+182 = 658
a7efie wfewrd = (377 x100)/658= 57.29

What is the total number of students enrolled for all the three tours and number of girls enrolled for Nainital and Shimla tour together and number of boys
enrolled for Nainital and Manali tour together?

01. 339 02. 356
03. 408 04. 395



05. 418
Q-78 T A 21X F forw ATHiTRa g arer et & HeAT s A AT si fOmar 21 F fory ATAithd g ATl AS ] il €A ST AT oY
hi HATAT 1Y % TorT ATHITRT AEHT T H@AT T T F4T 82

01. 339 02. 356
03. 408 04. 395
05. 418

Solution for Question 78
eng Required number of students = (70+65)+156+104 = 395

hi feremfefan < ¥ = (70+65)+156+104 = 395

Q-79 What is the sum of the total number of boys who enrolled for Nainital and the total number of girls who enrolled for the same tour together?
eng

01. 772 02. 845
03. 872 04. 775
05. 722

Q-79  AIATA B F ForT ATHITRT A ATl ST ol AT 37T Tral AIT % (10 ATHIThT oI ATAT ASTRAT 1 HEAT T FeT ART FAT 82

01. 772 02. 845
03. 872 04. 775
05. 722

Solution for Question 79

eng Total number of boys enrolled for Nainital tour = 182+70+104+78 = 434
Number of girls = 65+156+52+65 = 338
Total =434 + 338 =772

hi AraTet SR 3k foTu ATHifeRd o ATt TTgehl ohl ST = 182+70+104+78 = 434
Jraret SR foTw TmHifend o Tt AR B BT = 65+156+52+65 = 338
HeA = 434 + 338 = 772

Q-80 Total number of girls enrolled for Shimla is approximately what percent of students for the college?

eng
01. 21% 02. 26%
03. 35% 04. 41%
05. 29%
Q-80  formeT % forw ATHiTRa A=t T o AT FiersT & THT FA=ATHIT T T FohaaT qiaerd 82
hi
01. 21% 02. 26%
03. 35% 04. 41%
05. 29%
Solution for Question 80
eng Number of girls enrolled for Shimla =156+182+65=403
Required per cent = (403x100)/1560= 26%
hi Ty o forg ATHiferd Trgferal i i T =156+182+65=403

S7efie Tfewrd = (403%100)/1560= 26%



